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Arrange the chronology

1. 2" Anglo Mysore War
2. 1%t Anglo Maratha War
3. 2" Anglo Maratha War
4. 1% Anglo Mysore War
Choose the correct codes:
a) 4,2,1,3

b) 4,1,2,3

c) 4,1,3,2

d) 2,3,41

Consider which of the following statements is/are

correct about 1773 Regulating act

1. Governor of Bengal was made as general
governor of Bengal

2. Warren Hasting is the 1%t governor general of
Bengal

Choose the correct codes:

a) 10nly

b) 2 Only

c¢) Bothland?2

d) Neither 1 nor2

Which of the statement is true about Treaty of
Bassein

1. Itis an subsidiary alliance treaty

2. It was signed by British with Nizam

Choose the correct codes:

a) 10nly

b) 2 Only

c¢) Both1land?2

d) Neither 1 nor2

Arrange in Chronology order:
1. Benedict

2. Ellenborough

3. Dalhousie

4. Hardings

Choose the correct codes:

a) 2,4,1,3

b) 1,2,4,3

c) 3,2,1,4

d) 1,4,3,2

Which of the following statement is/ are correct
regarding Doctrine of Lapse

1. It was introduced by Dalhousie

2. Satara was the last to sign it

Choose the correct codes:
a) 10nly

b) 2 Only

c¢) Bothland2

d) Neither 1 nor 2

6. Which of the following statements is/are true
about Pits India Act
1. Board of controls created
2. Court of directors to pay due obedience to
Board of controls
Choose the correct codes:
a) 1O0nly
b) 2 Only
c¢) Bothland?2
d) Neither 1 nor 2

7. ljarzadri system refers to:
a) System of slavery
b) A plantation method
¢) Land revenue system
d) Education system

8. Which of the following statements is/are

correct about act of 1813

1. Abolition of monopoly over trade except
Tea and China trade

2. Separation of commercial and Territorial
interests of the company

Choose the correct codes:

a) 10nly

b) 2 Only

c) Both1land?2

d) Neither 1 nor 2

9. Indian war of independence was authored by
a) S.N.Sen
b) P.ClJoshi
c) V.D Savarkar
d) R.C Majundar

10. Match the following

a) Kunwer singh 1. Jhansi

b) Begum Hazarat 2. Lucknow
Mahal

c) Lakshmi bai 3. Kanpur

d) Nana saheb 4. Arrah
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11.

12.

13.

14.

Chose the correct code
ABCD

a) 4213

b) 2413

) 3412

d 2314

Mirat- Ul- Akbar is authored by
a) Raja Ram Mohan Ray

b) Eswar Chandra Vidya Sagar
¢) Maulana Azad

d) Dada Bai Naorji

“Young India” is written by
a) R.P Dutt

b) C.F Andrews

c) Annie Besant

d) Lala Lajpat rai

Which of the following statement is /are correct

about Drain theory.

1. Dada bhai Naoroji was first to present the
theory

2. He was the first to put the national income
and per capita income of country

Choose the correct codes:

a) 10nly

b) 2 Only

c¢) Both1and?2

d) Neither 1 nor2

First person to give idea of Swadeshi
a) Tilak

b) Gopal rao Deshmukh

c¢) Naba Gopal Mitra

d) Swami Vivekananda

15. “New lamps for the old” was written by:

16.

a) Ashwini kumar Dutt

b) Aurobindo Gosh
¢) Rabindranath Tagore
d) Tilak

Which of the following statement is/are correct

about Home rule movement

1. Tilak got the title Lokmanya

2. Adayar was the Head quarters of tilak and
Annie besant

17.

18.

19.

Choose the correct codes:
a) 10nly

b) 2 Only

c¢) Bothland2

d) Neither 1 nor 2

Vaikom satyagraha is:

a) Against poll tax of police
b) Against corrupt mahants
c) Atemple entry movement
d) A flagsatyagraha

Sedition committee is related to:
a) Civil disobedience movement
b) Swadeshi movement

c) Non-cooperation movement
d) Rowlatt act

Which of the following statement is/are
correct about congress kilafat swaraj party

1. C.R. Das was the president

2. Party manifesto was issued from Allahabad
Choose the correct codes:

a) 10nly

b) 2 Only

c¢) Both1and?2

d) Neither 1 nor 2

20. Wardha resolution of Gandhi is related to

21.

a) Non-cooperation movement
b) Quit India movement

c) Civil disobedience movement
d) Gandhi-irawin pact

Which one of the following statements is not

correct with reference to the early demands of

the Moderates?

a) They demanded a reduction in land
revenue and salt duty

b) They demanded policies to help in the
growth of Indian industries and handicrafts

¢) They demanded the repeal of the Arms Act

d) They demanded to abolish Permanent
Settlement from all parts of India
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22.

23.

24,

Consider the following pairs:
Newspaper in Established by
Colonial India
Navajivan Mahatma Gandhi
Al Hilal Khan Abdul Ghaffar Khan
Commonweal Annie Besant
Bombay Pherozeshah Mehta
Chronicle

How many pairs given above is/are correctly
matched?

a) Only one pair

b) Only two pairs

c) Only three pairs

d) All four pairs

Consider the following statement with respect to

Gandhi-Irwin pact:

1. The pact proposed for another round table
conference to discuss the agreements
reached in the first-round table conference.

2. The pact allowed for the immediate release of
all people arrested for non-violent protest.

3. After signing the pact, the Civil Disobedience
Movement was completely withdrawn.

Which of the statements given above are correct?

a) land?2only

b) 2 only

c) 3only

d) 1,2and3

Consider the following statements with reference

to the Swadeshi movement:

1. The movement was led by an intelligentsia
that came from landholding and professional
classes, not traders and merchants.

2. The movement started by insisting on the
unity and brotherhood of Hindus and Muslims
and ended up worsening relations between
the two communities.

3. Rabindranath Tagore was a strong supporter
and extremely active throughout the
movement.

Which of the statements given above is/are

correct?

a) 1and2only
b) 2and3only
c) 1only

d) 1,2and3

25. Consider the following statements with

reference to the Poona Pact of 1932:

1. It replaced separate electorate proposed
by the Communal Award by a Joint
electorate for candidates from depressed
classes in the elections to legislative
councils.

2. It provided more than double the number
of reserved seats in legislative councils
compared to the Communal Award

Which of the statements given above is/are

correct?

a) lonly

b) 2only

c¢) Both1land2

d) Neither 1 nor 2

26. Consider the following statements with
reference to the Eka Movement of 1921:
1. The movement was led by Baba

Ramchandra.

2. It brought tenants and small zamindars
together to protest against the forced
extraction of rents.

3. Congress and Khilafat leaders gave
complete support until the end of the
movement.

Which of the statements given above is/are

correct?

a) 2and3only

b) 2 only

c¢) 1and2only

d) 3only

27. Consider the following statements with
reference to the initiatives taken by the
congress ministries after the 1937 general
election?

1. Political prisoners were set free

2. The rent of the peasantry was reduced

3. The press restriction has been removed

4. Legislation conferring emergency powers
has been repealed.

How many statements given above is/are

correct?

a) Only one statement

b) Only two statements

c) Only three statements

d) All four statements
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28.

29.

30.

31.

Consider the following statements with reference

to the Quit India movement:

1. Mahatma Gandhi held the government
responsible for the people's use of violence in
the movement.

2. Mahatma Gandhi asked the people of the
Princely States to declare that they were part
of the Indian nation.

3. ML.A. Jinnah took active part in supporting the
Quit India Movement.

Which of the statements given above is/are

correct?

a) land2only

b) 2and 3 only

c) 1lonly

d) 1,2and3

Which one of the following statements is not

correct with reference to the proposals of Cripps

Mission?

a) It provided for an Indian Union with dominion
status

b) It assured to set up a constituent assembly to
frame a new constitution after the end of the
war

c) It gave the provinces the right to detach from
the Indian Union.

d) It provided a plan for immediate transfer of
power and real share in defence

With reference to Modern Indian history, who
among the following persons had described
nationalism as a ‘bhougalik apadevata’, a
‘geographical demon’?

a) Dayanand Saraswati

b) Gopal Krishna Gokhale

c) B.R. Ambedkar

d) Rabindranath Tagore

How was the Annie Besant's Home Rule League

different from Tilak's league?

1. Tilak’s league was confined to Maharashtra
and Karnataka only while Besant’s league
covered the rest of India.

2. Besant’s League was loosely organized as
compared to Tilak’s League.

3. Tilak’s League relied more on support from
Moderate leaders while Besant’s League
rejected the support of Moderates.

Select the correct answer using the code given

below:

a) 1,2and3

b) 2and 3 only
c) 2only
d) None of the above

32. With respect to revolutionary activities
during the Indian freedom struggle, consider
the following pairs:

Case Associated with
1. Lahore conspiracy - Murder of J.P

Saunders

2. Nasik conspiracy - The raiding of a police
armoury

3. Delhi conspiracy - Assassination of Lord
Hardinge

4. Kakori conspiracy - Train robbery
organised by Hindustan Republican Army

Which of the pairs given above is/are

correctly matched?

a) 1,2,3and4

b) 1and3only

¢) 2and4only

d) 1,3 and4only

33. What was the significance of the 1916 Session

of Indian National Congress?

1. Itled to the reconciliation between the
Moderates and Extremists.

2. It was the first session to be presided over
by an extremist.

3. It saw the presentation of joint demands by
Congress and Muslim League.

Select the correct option using the code given

below:

a) 1and2only

b) 2and3only

c¢) 1and3only

d) 1,2and3

34. With reference to the response of Indian
nationalists to the British participation in the
First World War, which of the following
statements are correct?

1. Moderates supported the British in the war
as a matter of duty.

2. Extremists opposed the British believing
that they were fighting to safeguard their
own colonies and markets.

3. The revolutionaries decided to liberate
India by waging a war against British rule.

Select the correct answer using the code given

below:

a) 1and2only
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35.

36.

37.

b) 2and 3 only
c) 1,2and3
d) 1and3only

Which of the following statement correctly
describes the change in the character and
structure of Indian National Congress under
Mahatma Gandhi?

1. Congress introduced new methods of protest
like boycott for the first time.

2. Provincial Congress committee on linguistic
basis was organised.

3. The objective of the Congress would now be
attainment of Swarajya by the people of
India.

Select the correct answer using the code given

below:

a) land?2only

b) 2 only

c¢) land3only

d) 2and3only

Which among the following were the drawbacks
of the constructive work of No changers during
1920s?

1. National schools set up by No-changers
benefited the urban lower middle classes and
the rich peasants only.

2. They did not emphasize on campaigning
about the social aspect of untouchability.

3. Promotion of khadi could not succeed as it
was costlier than the imported cloth.

Select the correct code from the options given

below:

a) lonly

b) 1and2only

c) 2and3only

d) 1and3only

With reference to the withdrawal of civil
disobedience movement, consider the following
statements:

1. After the withdrawal of civil disobedience
movement nationalist thought that there
should be constructive work on Gandhian
lines.

2. Nationalist favoured the constitutional
struggle and participation in elections to the
Central Legislature after the withdrawal of
civil disobedience movement.

3. A strong leftist trend within the Congress
favoured discontinuation of non-
constitutionalist mass struggle.

Which of the statements given above is/are

correct?

a) 1land2only

b) 2and3only

c¢) 1land3only

d) 1,2and3

38. Which of the following were the reasons for
the withdrawal of the Non-Cooperation
movement?

1. People had not fully understood the
meaning of Satyagraha and Ahimsa.

2. Afaction of nationalist leaders had
publicly turned against Gandhi and the
movement.

3. The movement was showing signs of
fatigue.

4. Most of the demands put forth by
Mahatma Gandhi had been met.

5. The Khilafat issue of the movement had
become irrelevant.

Select the correct answer using the code

given below:

a) 1,2and3only

b) 2,3 and4 only

c) 1,3and5only

d) 1,2,3,4and5

39. The decade of 1920s witnessed a rise of left
wing within Congress. Which one of the
following are its characteristics?

1. They were dissatisfied with Gandhian
ideas and political programme.

2. They were critical of both Swarajists and
No-Changers.

3. They wanted to combine nationalism and
anti-imperialism with social justice.

Select the correct answer using the code

given below.

a) land2only

b) 2 and 3 only

c¢) 1land3only

d) 1,2and3

40. With reference to differences in ideologies of
Gandhi and Ambedkar, consider the following
statements:

1. Both Gandhi and Ambedkar did not support
the abolition of varnashrama dharma.
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41.

42.

43,

2. Unlike Ambedkar, Gandhi argued that caste
conflict is a permanent feature of Indian
society.

3. Unlike Ambedkar, Gandhi did not advocate
separation of state and religion.

Which of the given statements above is/are

correct?

a) land3only

b) 2only

c) 2and3only

d) 3only

Consider the following statement with reference

to Shanghai Cooperation Organization:

1. Itissuccessor to the Shanghai Six, formed in
1996 between China, Kazakhstan, Kyrgyzstan,
Russia, Tajikistan and Uzbekistan.

2. India and Pakistan both are member states

and joined in 2017.

Its Headquarter is located in Shanghai.

4. Regional Anti-Terrorist Structure (RATS)
promote cooperation against the three evils
of terrorism, separatism and extremism.

Which of the following statements given above

is/are correct?

a) 2and4only

b) 2,3,4o0nly

c) 1,2and 4 only

d) All of the above

w

AUKUS is a trilateral security pact between
Australia, United Kingdom, and United States.
Consider below statements:

1. Pact also includes cooperation on advanced
cyber, artificial intelligence, quantum
technologies.

2. Pact was announced in 2021 to counter
influence of China in Indo-pacific.

3. Australia will acquire nuclear armed, nuclear
powered submarines from USA and UK.
Which of the following statements given above

is/are correct?

a) 1,2and 3 only

b) 1and3only

c¢) land2only

d) 2only

States bordering Black Sea are:

a) Bulgaria, Georgia, Romania, Russia, Turkey,
and Ukraine only

b) Bulgaria, Georgia, Romania, Russia, Turkey,
Ukraine, Armenia, only

44,

c) Russia, Ukraine, Turkey, Georgia, Serbia
only

d) Bulgaria, Georgia, Romania, Russia,
Turkey, and Ukraine and Syria only

Which of the following is true about Nine

Dash Line:

a) Ceasefire line between South and North
Korea

b) Ceasefire line between China and Vietnam

c) International Border between Cambodia
and Laos

d) A set of line segments marking claims of
China and Taiwan in the South China Sea

45. Which of the following is/are true about
Abraham Accords:

46.

1. It marks normalization of relationship
among Israel, UAE, Bahrain and Saudi
Arabia.

2. The agreement was mediated by USA

3. lItis based on common belief of the
Abrahamic religions

4. Both Bahrain and UAE recognize Israel’s
Sovereignty under the accord.

Which of the following statements given above
is/are correct?

a
b

) All are Correct
) 2and3only

c) 2,3and 4 Only

d

) 1,2and 3 only

Consider following pair:

47.

1. India-Kyrgistan | Kanjar
2. India-Sri Lanka | Maitree
3. India-Thailand | Mitra Shakti
4. India-USA Yudh Abhyas
Which of the following pair given above is/are
incorrect?
a) All are Correct
b) 2and3only

c¢) 2,3and4only

d

F
p

1.

) 1,2and 3 only

ollowing statements about India-USA defense
artnership:

India was declared a “Major Defense
Partner “of the United States.

India has signed all 4 of “Four foundational
agreements” that USA signs with a defense
Partner
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3. Basic Exchange and Cooperation Agreement

(BECA\) is signed for exchange of
topographical, nautical, and aeronautical
data.

Which of the following statements given above

is/are correct?

a) 2and3only
b) All are Correct
c) 1land2Only
d) 1and3only

48. Which of the following are members of G20:

a) India, Brazil, Australia, Mexico and Argentina

b) India, Pakistan, USA, South Africa
c) USA, China, Russia, Indonesia, UAE
d) USA, India, Canada, UAE

49. COP27 i.e 27th UNFCC Sharm-el-Sheikh climate

change conference was held in which of the
following countries:

a) Turkey

b) Saudi Arabia

c) UAE

d) Egypt

50. India is a member of which of the following:
1. RCEP: Regional Comprehensive Economic
Partnership
2. APEC: Asia Pacific Economic Cooperation
3. Eurasia Economic Union
4. Indian Ocean Rim Association

Which of the following statements given above

is/are correct?
a) 4only

b) 1and3only
c) 1and2only
d) 1,2,3and4

51. Consider the following pairs:

International Related
agreement/Accord | Subject/Organization
1. Lisbon Formation of ASEAN
Treaty
2. Fortaleza BRICS
Declaration
3. Montreal Water Pollution
Protocol
4. Under2 Green House Gas
Coalition emission mitigation

Which of the pairs given above is/are correctly
matched?

52.

53.

54,

55.

a) 2and4only
b) 2,3and4only
c) land2only
d) 4only

Consider the following statements

1. USA s the largest trading partner of India
with India having trade surplus.

2. India surpassed Germany to become 5th
largest economy (GDP in real terms) in the
world.

Which of the statements given above is/are

correct?

a) 2only

b) 1only

c) Bothland?2

d) None of the above

Which of the following statements is correct:

1. In customs union, countries have similar
tariff with non-parties members.

2. Inan Economic union, nations provides
free transfer of goods, services and people
as well across its border.

Which of the statements given above is/are

correct?

a) 2only

b) 1only

c) Both1and?2

d) None of the above

Which of the following statements is correct

with reference to Taiwan:

a) Itis official called as Republic of China.

b) India recognize Taiwan as legitimate
government of mainland China and Taiwan.

c) Itliesin the middle of East China Sea.

d) Itisa member of ASEAN.

Which of the following with reference to Indus

Water Treaty in Incorrect:

a) Treaty was brokered with help of World
Bank in 1960.

b) India gets control of three “eastern river”
and Pakistan of three “Western Rivers”.

c) Irrigation is prohibited for India in
“Western Rivers”.

d) Indus, the Jhelum and Chenab are three
western rivers.
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56.

57.

58.

59.

Which of the following is correct with reference

to India-Australia Relation:

1. Tie has been upgraded to a Comprehensive
Strategic Partnership (CSP)

2. Comprehensive Economic Cooperation
Agreement (CECA) was signed in 2022.

3. Both aim to sign Economic Cooperation and
Trade Agreement to enhance bilateral trade.

Which of the statements given above is/are

correct?

a) lonly

b) 1and 3 only

c) 1,2and3only

d) None of the above

Which of the following are reasons for present

economic crisis of Sri Lank:

1. Government reduced taxes leading to low
revenue collection.

2. Agricultural reform with focus on organic
fertilizers.

3. COVID led lockdown.

Which of the statements given above is/are

correct?

a) lonly

b) 1and3only

c) 1,and 2only

d) All are correct

Which of the following is correct sequence of
countries from north to south:

a) lran-Lebanon-Irag-Israel-Egypt

b) Iran-lrag-Israel-Lebanon-Egypt

c) lIran-lrag-Lebanon-Israel-Egypt

d) lIrag-lran- Lebanon- Israel-Egypt

Consider the following with reference to Eurasian

Economic Union:

1. An economic Union of Post-soviet states that
came into force in January 2015

2. Member countries transact in a single
currency.

3. India recently signed Free Trade Agreement
with the Union.

Which of the following is/are correct?

a) lonly

b) 1and3only

c) 2only

d) All are correct.

60. Consider following statements about Energy

61.

62.

63.

Charter Treaty:

1. Aninternational agreement cooperation
in the energy industry, principally the
fossil fuel industry.

2. It aimed to integrate the energy sectors of
the Soviet Union and Eastern Europe with
Eastern Europe and world markets.

3. Indiais not a member of Energy Charter
Conference.

Which of the above statements are correct?

a) lonly

b) 1and3only

c) 1and2only

d) All are correct.

The MGNREGA wage rates are fixed according

to changes in which Index?

a) Consumer Price Index-Agriculture Labour
(CPI-AL)

b) Consumer Price Index-Industrial Workers
(CPI-IW)

c) Consumer Price Index-New Series (CPI-NS)

d) Consumer Price Index-Rural Labourers (CPI-
RL)

Which of the following is/are with regards to
the S3Waas platform (Secure, Scalable and
Sugamya Website as a Service)?

1. S3WaaS is a cloud service developed for
government entities to generate Secure,
Scalable & Sugamya (Accessible) websites.

2. Complete SaaS solution is built upon
cutting edge Open-Source technology
stacks.

3. The platform has to compliant with
mandatory guidelines from the compliance
matrix of GIGW.

Select the correct answer from the codes given

below:

a) land2only

b) 2and 3 only

c¢) 1land3only

d) 1,2and3

Under which of the following schemes, farmers

can get financial assistance for the various

activities to improve agricultural production?

1. Pradhan Mantri Kisan Samman Nidhi (PM-
KISAN).

2. Rashtriya Krishi Vikas Yojana (RKVY).
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64.

65.

66.

3. Agricultural Mechanization Promotion
Scheme (AMPS).

4. National Agriculture Market (eNAM).

Select the correct answer from the codes given

below:

a) 1,2and3only

b) 1and3only

c) 2and4only

d) 1,2,3and4

‘Raising and Accelerating MSME Performance’
(RAMP) is supported by which of the following
global institution?

a) International Monetary Fund

b) World Bank

c) UNICEF

d) World Economic Forum

Consider the following statements with regards

to the Amrit Sarovar Scheme:

1. The Mission is aimed at developing and
rejuvenating 75 water bodies in each state of
the country as a part of celebration of Azadi
ka Amrit Mahotsav.

2. Bhaskaracharya National Institute for Space
Application and Geo-informatics (BISAG-N)
has been engaged as technical partner for the
Mission.

3. On every 2nd October, National Flag hoisting
will be organized on every Amrit Sarovar site.

Which of the above statements is/are correct?

a) 1land2only

b) 2 only

c) 1and3only

d) 1,2and3

Which of the following is incorrect with regards
to the Prime Minister’s Employment Generation
Programme (PMEGP)?

1. The Programme (PMEGP) has been approved
for continuation till 2025-26.

2. The scheme will create sustainable
employment opportunities for about 40 lakh
persons in five financial years.

3. Itisimplemented by the Ministry of micro,
small and medium enterprises.

Select the correct answer from the codes given

below:

a) One statement is incorrect

b) Two statements are incorrect

c) Three statements are incorrect

d) None of the above statements are
incorrect.

67. Which Union Ministry implements the ‘One
District-One Product (ODOP)’ scheme?
a) Ministry of MSME
b) Ministry of Commerce and Industry
¢) Ministry of Home Affairs
d) Ministry of Finance

68. Consider the following statements with regards
to the “One Nation, One fertilizer Scheme”:
1. The fertilisers will have brand name as

‘Bharat’ irrespective of the company that
manufactures it, both in the public or the
private sector.

2. The logo of Pradhan Mantri Bhartiya
Janurvarak Pariyojana (PMBJP) will also
have to be displayed on the bags.

Which of the statements is/are incorrect?

a) lonly

b) 2 only

c) Both1and?2

d) None of the above

69. Which scheme is associated with geospatial
mapping of assets and integrated planning?
a) PM Gati Shakti
b) AMRUT
¢) Pradhan Mantri Awas Yojana-Urban
d) Affordable Rental Housing Complexes
(ARHC)

70. Which of the following is/are correct with
regards to the Green Energy Open Access
Portal?

1. It aims to ensure affordable, sustainable,
and green energy for all.

2. Any consumer with a connected load of
100 kW or above can get Renewable
Energy through open access.

Select the correct answer from the codes given

below:

a) lonly

b) 2 only

c¢) Both1land?2

d) None of the above

71. Consider the following statements:
1. Urban Infrastructure Development Fund
(UIDF) will be established through use of
priority Sector Lending shortfall.
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72.

73.

74.

75.

2. It will be managed by the national Housing
Bank.

3. It will be used by public agencies to create
urban infrastructure in Tier 1, Tier 2 and Tier 3
cities.

Which of the above statements are correct?

a) land2only

b) 2and 3 only

c) land3only

d) 1,2and3

Digi Locker will be setup for use by:

1. MSMEs

2. large business entities

3. charitable trusts

4. Public Sector Undertakings

Which of the above can use Entity Digi locker to
store and share documents online securely?
a) land?2only

b) 1,2 and3only

c) 2and3only

d) 1,2,3and4

Which of the following funds is planned to
establish for agri startups?

a) Agriculture Accelerator Fund

b) Agriculture Business Aid Fund

c) Agriculture Aaramb Dhan

d) Agriculture Promotion Fund

The government of India has announced to

launch Sickle cell anaemia elimination mission in

recent budget. Consider the following statements

in the above context:

1. Sickle cell anaemia is a genetic disorder.

2. Sickle cell disease can protect people from
malaria infection.

3. Sickle cell anaemia can be cured with iron and
folic acid supplements.

Which of the above statements is/are correct?

a) land2only

b) 1only

c) 2and3only

d) 1,2and3

Aspirational Blocks Programme is launched for:

a) Saturation of essential government services

b) Development of backward districts.

c) Development of blocks in schedule V and VI
areas.

d) Itis aspecial programme on block chain
technology development.

76. Consider the following statements:

1. Transgender can enjoy voting rights as third
gender in India.

2. LGBTQIA+ community people have the
right to freedom of expression to their
sexual orientation in India.

3. Section 377 of IPC deals with homosexual
issues.

Which of the above statements are correct

with regards to the LGBTQIA + community?

a) land2only

b) 2and 3 only

c) 1and3only

d) 1,2and3

77. Consider the following statements

1. 2011 Census was the first census in history
to incorporate the number of ‘trans’
population in India.

2. The Transgender Persons (Protection of
Rights) Act, 2019 calls for establishing a
National Council for Transgender persons
(NCT).

Which of the above statements is/are

incorrect?

a) 1lonly

b) 2 only

c) Both1land?2

d) None of the above

78. Which of the following are constitutional
mechanisms to protect the interests of Indian
scheduled tribes?

1. Schedule V and VI

2. Reservations for political representation in
the legislative houses.

3. Constitutional validity to the tribal sub
plan.

4. Special provisions to ensure promotions in
government opportunities if required.

Select the correct answer from the codes given

below:

a) land2only

b) 1,2 and3only

c) 1,2and 4 only

d) 1,2,3and4

79. Consider the following statements:
1. Theincidence of poverty in the country
dropped from 55.1% in 2005-06 to 16.4%
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81.

82.

in 2019-21, as per the latest
Multidimensional Poverty Index (MPI).
2. Multidimensional Poverty Index (MPI) is
compiled jointly by the UN Development
Programme (UNDP) and Oxford Poverty and
Human Development Initiative (OPHI).
Which of the above statements is/are incorrect
statements?
a) lonly
b) 2 only
c) Both1land2
d) None of the above

Consider the following with regards to the SDGs:

1. SDG 1 - reducing poverty by half of all ages.

2. SDG 2 —achieving zero hunger

3. SDG 3 —ensure quality education and lifelong
learning opportunities

4. SDG 4 — promote well being for all at all ages.

5. SDG 5 —ensure gender equality and
empowerment.

Which of the above are correctly given:

a) 1,2,and 3 only

b) 1,2,3and4only

c) 1,2and5only

d 1,2,3,4and5

Which of the following initiative aims to make

public spaces and transportation more accessible

for people with disabilities?

a) Deendayal Disabled Rehabilitation Scheme
(DDRS)

b) Accessible India Campaign

c) SIPDA

d) Accessible Public Campaign

Which of the following are initiatives taken by the
government to uplift and empower the women in
India?

1. Stand up India

2. Self Help Groups

3. One stop centre scheme

4. STEP

Select the correct answer from the codes given
below:

a) land2only

b) 1,2 and3only

c¢) 2,3and 4 only

d) 1,2,3and4

83. Consider the following statements:

1. The sex ratio has increased above 1000
according to the NFHS V.

2. Total fertility rate has declined than total
replacement rate according to the NFHS V

Which of the above statements is/are

incorrect?

a) lonly

b) 2only

c¢) Both1land2

d) None of the above

84. Which of the following states have shown sex
ratio at birth above the 1000 according to the
NFHS V?

a) Kerala
b) Goa

¢) Mizoram
d) Tripura

85. Which of the following acts is enacted in
pursuing the fundamental rights under article
177?

a) Civil rights protection act

b) People Representation Act

c) Prevention of Atrocities Act

d) Prohibition of Manual Scavengers Act

86. “It shall be the endeavour of every state and
every local authority within the state to
provide adequate facilities for instruction in
the mother-tongue at the primary stage of
education to children belonging to linguistic
minority groups.” Thisis a
1. Part of Fundamental rights under Part Il of
the Constitution

2. Provision made under an Act of Parliament

3. Justiciable in courts if not implemented by
the Government of India

Select the correct answer code:

a) lonly

b) 2 and 3 only

c¢) 1land3only

d) None of the above

87. Consider the following statements regarding
Pardoning powers of President.

1. The power of pardon shall be exercised by
the President on the advice of Council of
Ministers.

2. The President can exercise these powers
in all cases where the punishment or
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88.

89.

90.

sentence is for an offence against any law
relating to a matter to which the
executive power of the Union extends.

3. The original constitution has provided a small
window for judicial review of the pardon
powers of President for the purpose of ruling
out any arbitrariness.

Which of the above statements is/are correct?

a) land3only

b) 1and2only

c) 2and3only

d) 1,2and3

With reference to the procedure for the

amendment of the Constitution as laid down in

Article 368, consider the following statements.

1. An amendment of the Constitution can be
initiated only in either House of Parliament.

2. The bill can be introduced only by a minister
and not by a private member.

3. Prior permission of the president is not
required for the introduction of the bill.

4. The ratification by the state legislature is not
required.

Which of the above statements is/are incorrect?

a) 1land3only

b) 2,3 and 4 only

c) 1,2and3only

d) 2and4only

Consider the following statements.

1. Parliament may, by law, regulate any matter
relating to or connected with the election of a
President or a Vice-President.

2. All doubts and disputes arising out of the
election of a President or Vice-President shall
be inquired into and decided by the Election
Commission of India whose decision shall be
final.

Which of the above statements is/are correct?

a) lonly

b) 2only

c¢) Both1land?2
d) Neither 1 nor2

Consider the following statements regarding the
Legislative Powers of the President.

1. He can send messages to the Houses of
Parliament with respect to a bill pending in
the Parliament.

2. He decides on questions as to
disqualifications of members of the

91.

92.

Parliament, in consultation with the Prime
Minister.

3. Inthe case of Puducherry, the President
can legislate by making regulations but only
when the assembly is suspended or
dissolved.

Which of the above statements is/are correct?

a) 1land2only

b) 1and3only

c) 2and3only

d) 1,2and 3

For filing Public Interest Litigation (PIL), the
Supreme Court invokes which of the following
jurisdiction?

a) Appellate jurisdiction

b) Advisory Jurisdiction

c) Writ Jurisdiction

d) Original Jurisdiction

Consider the following statements regarding
President’s rule that is imposed under Article
356 of the Constitution.

1. It cannot be imposed without the written
recommendation of the Governor of the
concerned state.

2. Every proclamation of President’s rule must
be approved by both the houses of
Parliament within a stipulated time.

Which of the above statements is/are correct?

a) lonly

b) 2 only

c) Both1land?2

d) Neither 1 nor 2

93. Consider the following statements

1. The office of governor of a state is
considered as an employment under the
Central government.

2. The governor is indirectly elected by a
specially constituted electoral college
same like president.

Which of the above statements is/are correct?

a) lonly

b) 2 only

c¢) Both1land?2

d) Neither 1 nor 2
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94. Consider the following statements regarding the

95.

96.

President’s address in the Parliament.

1. InIndia, the practice of the President
addressing Parliament can be traced back to
the Government of India Act of 1919.

2. President’s address is the only occasion in the
year when the entire Parliament come
together.

3. Inthe past, there are instances where the
President’s speech is delivered by the Vice
president discharging the functions of the
President.

Which of the above statements is/are correct?

a) land2only

b) 1and3only

c) 2and3only

d) 1,2and3

Consider the following statements regarding

Public Account of India.

1. Public Account of India accounts for flows for
those transactions where the Union
government acts as a banker.

2. Itincludes state provident funds and small
savings deposits.

3. Expenditures from Public Account of India
require the approval of the parliament.
Which of the above statements is/are correct?

a) 1and3only

b) 1and2only

c) 2only

d) 2and3only

Consider the following statements regarding
Department-Related Standing Committees
(DRSC).

1. The Department-Related Standing
Committees (DRSC) are reconstituted every
year by both the Presiding Officers of
Parliament in consultation with the
respective parties and the government.

2. The constitution has made it mandatory for
the members to attend the committee
meetings since it scrutinises key legislations.

3. The committees of the Lok Sabha are more in
number than Rajya Sabha.

Which of the above statements is/are correct?

a) land2only

b) 1and 3 only

c) 2and3only

d) 1,2and3

97. The Article 19(2) of the Constitution of India
imposes restrictions on free speech under
which of the following situations?

1. Interests of the sovereignty and integrity of
India

2. For friendly relations with foreign states

3. Preventing incitement to the commission
of an offence

Select the correct answer code:

a) land2only

b) 1and3only

c) 2and3only

d) 1,2and 3

98. Consider the following statements.

1. According to the Constitution of India, the
Governor shall from time to time summon
the House or Each House of the Legislature
of the State to meet at such time and place
as he thinks fit.

2. The Governor always has to act on.the aid
and advice of the cabinet and cannot
decide on his or her Own on summoning
the House.

Which of the above statements is/are correct?

a) 1lonly

b) 2 only

c) Both1and?2

d) 'Neither 1 nor 2

99. Consider the following statements regarding
Indian Citizenship Act, 1955.

1. According to the Act, any Indian citizen
who acquires foreign citizenship ceases to
be an Indian citizen.

2. The Act specifies the procedure required
for termination of Indian citizenship in
case of acquisition of foreign citizenship.

3. Some of the provisions of the law does
not apply when India is at war with any
country.

Which of the above statements is/are correct?

a) 1land2only

b) 1and3only

c) 2and3only

d) 1only
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100. Consider the following statements regarding the

Sessions of Parliament in India.

1. India does have a fixed parliamentary
calendar.

2. The summoning of Parliament is based on
the provisions of the Government of India
Act, 1935.

3. By convention, Parliament meets for three
sessions in a year.

Which of the above statements is/are correct?

a) land2only

b) 3only

c) 2and3only

d) 1and3only
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